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QUESTION 1

The Copy Lot Attributes checkbox is enabled at the organization item level. Which two statements are true? (Choose
two.)

A. This feature is specific to child lots.

B. This feature is specific to parent lots.

C. Lot attributes are copied between child lots.

D. Parent lot inherits the lot attributes of the child.

E. Child lots inherit the attributes of the parent lot.

F. Lot attributes are copied from parent to parent lot.

G. The feature is applicable to both child and parent lots.
H. Lot attributes are copied from the child to the parent lot.

Correct Answer: AE

QUESTION 2

Which three statements are true regarding Inventory replenishment methods? (Choose three.)
A. Min-max planning considers order cost.

B. Min-max planning considers carrying cost.

C. Reorder point planning considers order cost.

D. Reorder point planning considers replenishment lead time.

E. Min-max planning can be performed at the sub inventory level.

F. When an item is defined, both reorder point planning and min-max planning can be specified to Place limits on the
calculated reorder point.

Correct Answer: CDE

QUESTION 3

You and your client determined that forecasting methods included with inventory will be sufficient to meet
the client\\'s needs.

You and the customer have decided to use Focus Forecasting to begin with and move to Exponential

Smoothing after one year.
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Along the way, your customer noticed some definite trends in demand and has requested your help to reevaluate the
forecasting method.

What do you recommend as a forecasting method? What additional information is needed, if any?
A. Focus Forecasting

B. Exponential Smoothing

C. Exponential Smoothing with Trend Enhanced Forecasting, Alpha and Beta Coefficients

D. Exponential Smoothing with Season Enhanced Forecasting, Alpha and Beta Coefficients

E. Exponential Smoothing with Season Enhanced Forecasting, Alpha and Gamma Coefficients

Correct Answer: C

QUESTION 4

Identify the two benefits of using Multi-Org Access Control. (Choose two.)

A. View asset information across multiple asset books.

B. Restrict access to users based on their Organization assignments.

C. Submit and view data across different Ledgers using a single responsibility.

D. Enter Payables invoices for different Operating Units using a single responsibility.
E. View Consolidated requisitions across Operating Units using a single responsibility.

Correct Answer: DE

QUESTION 5

You receive a request to create a new responsibility for US Payables Manager. The request states that the new
responsibility should have access to all menu items except Invoice Payments.

Identify two options that you would use to restrict the Invoice Payments option on the new US Payables Manager
responsibility. (Choose two.)

A. Remove the request group from the new US Payables Manager responsibility.

B. Create a Menu Exclusion for Invoice Payments on the US Payables Manager responsibility.

C. Create an Item Exclusion for Invoice Payments on the US Payables Manager responsibility.

D. Create a Security Attribute for Invoice Payments on the US Payables Manager responsibility.

E. Create a new menu excluding the Invoice Payments option and attach the new menu to the responsibility.

Correct Answer: BE
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QUESTION 6

Identify four features of Workflow Monitor. (Choose four.)

A. Enables you to view your workflows

B. Enables you to modify a workflow definition file

C. Enables you to download workflow definition file

D. Displays status information for the process instance

E. Enables administrators to perform control operations

F. Enables you to search for a workflow process instances

G. provides only summary-level information about Individual activities of a workflow process

Correct Answer: ADEF

QUESTION 7

Identify three true statements about defining actions In Oracle Alert. (Choose three.)

A. An alert can contain only one Action Set.

B. An alert can contain any number of Action Sets.

C. When multiple actions are defined they must be included In an Action Set.

D. Oracle Alert waits for user response before executing next action in an Action Set.

E. When multiple actions are defined, they do not need to be included in an Action Set.

F. Oracle Alert does not wait for user response before executing next action in an Action Set

Correct Answer:. BCF

QUESTION 8

Identify two features of Oracle Workflow in Oracle E-Business Suite Release 12. (Choose two.)
A. enhances data security

B. helps you focus on managing individual business transactions

C. has each activity in a workflow as a PL/SQL function or a notification or a sub process

D. can integrate business functions only between business processes within a single company

E. can integrate business processes within an enterprise, as well as between different organizations and different
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systems

Correct Answer: CE

QUESTION 9

You created an internal requisition to move material between two organizations. The destination is locator controlled.
The shipping network between these two locations has been defined as Direct. The shipment transaction fails.

What could be the reason for the failure?

A. Locator default has not been set up in the transaction default.

B. Internal requisitions cannot be used for Direct shipping networks.

C. You did not indicate the locator of the destination on the requisition.

D. Locator-controlled destinations cannot be used for Direct shipping networks.

Correct Answer: A

QUESTION 10

What are the three elements involved in submitting a concurrent request? (Choose three.)
A. selecting Operating Unit

B. selecting report language

C. providing completion option

D. defining a submission schedule

E. selecting the request or request set to be submitted

Correct Answer: CDE

QUESTION 11

Which three statements are true when disabling lots? (Choose three.)
A. Lots are included as on-hand availability in reports.

B. Lots are not included as on-hand availability in reports.

C. Lots do not appear in the list of values during receipt transactions.

D. Lots appear in the list of values for receipts and ail other transactions.

E. Lots are considered as on-hand supply when you perform min-max or re-order poin tplanning.

Latest 120-519 Dumps | 120-519 PDF Dumps | 120-519 Study Guide 5/7


https://www.pass4itsure.com/1z0-519.html
https://www.pass4itsure.com/1z0-519.html
https://www.pass4itsure.com/1z0-519.html

VCE & PDF https://www.pass4itsure.com/1z0-519.html
a 2024 Latest passditsure 170-519 PDF and VCE dumps Download
== / PassditSure.com

F. Lots are not considered as on-hand supply when you perform min-max orre-order point planning.
G. Lots are not included in Available to Promise, Available to Reserve, and Available to transact calculations.

Correct Answer: ACE

QUESTION 12

Your customer has two manufacturing plants. Plantl reuses serial numbers across all items. Plant2 requires unique
serial numbers across all items in the Plant2 enterprise.

Which type of serial control setup meets the requirement?

A. Plantl: within an organization, Plant2: across organization
B. Plantl: within inventory items, Plant2: across organization
C. Plantl: across organization, Plant 2: within an organization
D. Plantl: across organization, Plant 2: within inventory items
E. Plantl: within an organization, Plant2: within inventory items
F. Plantl: within inventory items, Plant2: within an organization

Correct Answer: F

QUESTION 13

Identify four functions that a user can perform using the Material Workbench. (Choose four)
A. Create move orders.

B. Create and save queries.

C. Change material statuses.

D. Perform miscellaneous issues.

E. Perform miscellaneous receipts.

F. Perform pick confirm transactions.

G. Perform ship confirms transactions.

H. View material in receiving, on-hand quantities, and in transit material.

Correct Answer: ABCH

QUESTION 14

Latest 120-519 Dumps | 120-519 PDF Dumps | 120-519 Study Guide 6/7


https://www.pass4itsure.com/1z0-519.html
https://www.pass4itsure.com/1z0-519.html
https://www.pass4itsure.com/1z0-519.html

. VCE & PDF https://www.pass4itsure.com/1z0-519.html
E 2024 Latest passditsure 120-519 PDF and VCE dumps Download

PassditSure.com

A Is acontainer for a unique set of information on a Daily Business Intelligence overview page.
A. Report

B. Region

C. Dashboard

D. Key Performance Indicator

Correct Answer: B

QUESTION 15

What are the four required fields when defining a request set? (Choose four.)
A. Set

B. Owner D

C. Set Code

D. Application

E. Description

F. Active Date

Correct Answer. ACDF
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